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For each question from 1 to 30, four options are given. Oneofﬂwmistheoomctansmr
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1. The diagram below shows a female reproductive system. A, B, C and D are different
parts of the reproductive sysiem.

2. The table below compares the sexual repmdqcﬁon of animals and flowering plants.

Animals Flowering plants

Organ that produces the Ovary W

female reproductive cell .

Organ that produces the X Y

male reproductive cell -

Process whereby the

female reproductive csil Z Z

fuses with the wmale

wproduwveoeﬂ ‘
Whichomofﬂwfoﬁmgcmecﬂysdemﬂesw X, Y and Z?

W X Y Z

(1) Ovary ~ Tests Anther Fertilisation
3] Stigma_ " Testis Anther Pollination
3 “Ovary ~ Anther Testis | Reproduction
4) Stipma Testis Anther Ferﬂlisaﬂon




3. Some Primary 5 puplis wanted to carry out an experiment to find out whether seeds
need water to germinate. '

To ensure a fair test, which 2 set-ups should they use?

(1) A and C only
{2 A and D only
{3) B and C only
{4) B and D only



4. The diapram below shows a plant cell with fis different parts isbeliad.

Which pants of the ceE, if ramovatf, will result In the affects as shown In the table below?

Cell will not have a Plant will not be abls o make
regular shape , food
il , A o E
@ ____.C B _
{3) , B D
{4) D C

5. Kok Fah wants 1o grow apples that are redder and swester.

Based on the plant cefl given above, which pari(s) of tha cell ia/ars moat likely to have
been changed in order to produce such applas?

N P only
13 S only
3 P and R only
) Q and 8 only
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Which of the bulb(s) wil remain It when bulb 2 fuses?

@) Noné of the bulbs.

7. mmmmmmwlmdennmambmmwﬁam
yernenis of identical bulbs shown below. ?hsbnlhsiulfourmﬁslightup
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. B. Which of tha folowing atatemanis about gresn plants are comeot?

Thaynoedsnwgymmnymifapw
Photosynihieals takas piace in the prepgncé of aunlight onfy.

Food produced by grean pisits dinsclly or [ndinectly becomes the source of
anargy for animals,

Exchange of gaaes like carbon dioxide, toygsen ang water vapour takes place
in all paris of green plants,

U Owor

{1) A and B only
{2) A and C only
13) B and D only
(%) C and D only

8. A group of Primary 5 pupifs wrote the following statements about the water cycle.

A Water gains heat and evaporates.

B Cloarls are madia up of walsr vapour.

c Plants and animals give out waber vapour.

D The two processas, svaporstion and condensation, taks place contizucusly In
2 cyde,

Who is/ssa correct?

(1) Aonly

{2 8 only

{3} A, C and D only
) A, B, CandD

10. The tabls balow shows a list of diffsrent functiona of the vavlous parts of s lard plant.

| makes food for tha plant

takes in wader ahd minoral salts

o _Mmm

ds the plants finnly to the

m|oles|wi>

Mmmﬂmwm__r. nches and leayes

1

transports food, waler and salls 1 3l parts of he pmnL.

Whizh 5ne of the following parts of the plant is matched correctly Io its functions?

Part of plant Funciiom

{1 ... Fruit Aandl o
Stem __ EandF
@ Lent _AandB
) Root | DandE




1. The diagram below shows the digestive system of a human body.

At which pant, A, B, C or D, i3 digested food absorbed Into the bloodstream?

(1)
(2)
(3)
{4)

A
B
¢
D

12. In one of Aasop’s Fables, "The Crow and the Pitcher, tha thirsty crow droppad in
pabbles ons by ona into the pitcher until the water rose (o the top of the plicher,
sllowing It to drink.

S

Which proparty of matier did 119 670w e 1 obtain waler?

Matier has mass, - an
Matier has definite shaps

Mstter takes tha shape of the container.



13. The diagram below shows the cross-section of a Iady’s finger.

Pupils A, B and C wrote the foliowing statements after looking at the lady's finger.

A The lady’s finger is not a fruit but a vegeiabla.

B Tha funciion of the frult Is to protect the seads.

C The ovary of the fower which the fady’s finger developed from contained
many ovules,

Whosze staternent(s) is/are correct?

(1) Aonly

(2) C only

(3  AandBony
(4}  BandConly



14. The diagrams balow show the fruits of three differont plents and their characlonistics.

PlantC

The following diagrame show thres possible dispersal patterns, X, Y and Z.

Ne TN N

0.9
»

" - —

¢ parent plant \ -
" coeding Wi direction

gnﬁchmmmmmmmmwmmmwwmmaam
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()| PlantA A Plant B

e

() PlntB PlantC
g; __PlantC_ Plant A

____PhntC Paie




15. The diagrasm helow shows the movement of bbod through different blood vessels in the
leg of a mammal. . : :

Biood flowing Blood flowing
back to the heart L 1ftom the hesdit

. Sample B

Blood samples A, B, C and D were taken from these differant blood vessaels. Which
graph most appropriately shows the amount of carbon dioxide in the blood samples?

{1 {2)
Amount of ‘ Asmount of

carbon dioxide carbon dioxide

{3) {4)
Amount of Amount of
carbon dioxide carbon dioxide




16. M&ichoﬂmfolomgsubslam ane transported by the blood vessels in_the human
body and tha water-carmrying tubes in a green plant mspectively?

A
B
C
D

)
2
@
%

food
water

gasss
minsral salis

“Blood veasels in the human body

Water-carrying tubes in a gresn plant

Aand D only

B and C only

A Band Conly

B only

A B CandD

Aand Conly

AB.CandD

'8 and D only

17. Study the flowchart of the human systems as shown below.

SystemA

provides substance X

éystem 8

provides digested
food

Bood \{pibload
;. 1

SystemC |

+

Skelotal System

N

-

causes movernent

Which systems do A, B and C represent and what is substance X7?

O
@
@
“

System A

Systsm B

Bystem C

[ Subatance X |

crciiatory system

muscular system

oxypen

respiratory system

muscular system

oxygen

muscular system |

carbon dioxide |

10



18. Lungs are the organs in the raspiratory system of 8 mammal. Gills are th& ombs nthe
raspifatory system of a fish.

ungs

Which of the following statements show the comparisons batween ihe ngs and the

gilis comracily?

A The lungs and the pllis are made up of blood veasels only.

B Ths sxchange of gases takes placs in both the lunps and the gills.
C Tha lungs and the glis remove the carben dioxiie from the body,
4] A and B only

{2) A and C only

{3) B, C and D only

{4) A B, CandD

Cell X and Coll Y are similar because they both

~_have a roguiar shape

do not hava call membrane _

have chioropiaats to meke their own food

have cytopiasm that contains the different coll parts

11



20, Aeimnitm;doomiaﬁngeprnpnrcips P10 Pﬁ)sraconmmdbyampperwim
 and 3 nylon strings. A group of puplis connacted the circuit card o a cirouit taster,

[

®
P ™ i

Circuit tester Chrcuit card

For the bulb to light up, which pair of paper ciips on the circuit card should the pupils
connect 1o the circult tester?

)  PlondP8
@  PzandP4
@  P3andP5
4 P3 and P8

12



21 ummmmmmmnmmm Selup A and Sst-up B alowed him
o com terials R, S, T and U in terms of their conductivity of slectricily and heat

“lﬁ{hm”

" Datalogger
sensor

Sst-up B

He recorded his findings from Set-up A in the table below,

_Materaly —Brighiness of the buib

ic -ﬁw !

Temperaturs A
of material

- D

Which of the following statements is comect?

1) Madsrial R s an insulator of aleciricity and 3 good conductor of heat.

{2) Material S is the beat conductor of electricity and heat among the 4 matedals,

{3) Matariol T is the poorest conductor of eleciricily but the beat conductor of
heat.

(4) mml Shab batier eandm af o!ewbity than Material T but a poorer




&} ’ ]
o
T .

{2)

&)

-
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23, hmdrwﬁshown behw.onaoimanbiacta A, B, C or D, Is an slectrical insilator,
i the switch is clossd, only 3 balls in the circuit will sing.

Which cne of the 4 pbjects, A, B?C or D, is the electrical nsulator?
{1)  ObjectA

2) }

)  ObjectC

{4)  ObjectD

24. The table balow shows the bolling and malting points of thres substances.

Substance | Mslting point (°C) |  Bolling point {°C)

= . e
- - —
ﬁ" — =

Bagsed on the information giwanabm whmboneufﬂofolming shows the comact
statas of Substances P, G and R at a room tomperature of 28°C?

D TN
©) P | amer
@ | aadR ] o

15



. 25. Mr Lim watered a potied plant and wrapped it with a black plastic bag. Then he placed

it under the Sunfoa'severa! hours.

Black plastic
bag

vA¢
‘1@5’

Which one of the following graphs below shows the changes in the amount of carbon

dioxide and oxygen in the bag during that period of time?

(1) (2)
1 .
Amount of gas Amount of gas
‘‘‘‘‘‘‘‘‘‘ Carbo Carbon
T . Dioxide
Dioxide
Time Time
(3)- @)
A T
Amount of gas Carbon Amount of gas
Dloxide
e Oxygen
- U U Carbon
Oxygen  poommemmmomsmeeee Dioxide
— >
Time Timse

16



26. Mdm Halimah hested some water in a kettle until it bolled. She forgot to tum off the fire
arud the water continued to boil for some time. After she had switched off the fire, she
left the water to cool. The graph bslow shows the change in the temperature of the
waler over a period of time.

Temperature (°C)

m e s
i 1 | 1 1 L 3 3 [ .~
) 1 i 1 I i i i T v
3 8 9 12 95 8 21 24 2
Time {minutes)

Which of the following statements correctly show what happened to the water at the

different stages?

A Heat was gained at stage QR.

B Water was heated for 18 minutes.

c Water couki exist in 2 states at stage PQ.
B Evaporation took place at stage RS only.
{n A and B only

fd) C and D only

(3) A, Cand D only

(4) A, B and C only

17



27. Thé diégram below shows what happened to 3 identical bar magnets when they 'kere
hung from a pole. The ends of the barmagnets are marfked Ato F.

Which one of the following diagrams shows a possible arrangement of the three
magnets?

M e F @ |s
, . =
Alc D plF E
G le D : @ [a
A D
BlE F (clE F

18



28. Thediagrmnbebwshowsﬁenfecycleoiafem.

adult plant

young plant

spore

Which one of the following statements about the life cycis of the fern is incorrect?

All fems go through the same life cycle.

There am threo stages in the life cycle of the fem.

The life cycis of the fam ensures the continuity of its kind.
Sunlight is not needed for each stage of growth of the fem.

29. Acomainarmampadlyofmm::m’nsmwwnhapmsp Each time the plunger is
pushed in completely, 1500m’ofairvﬂlentarhacontamar

beaksr {1000 cm?)
water (200 cm?)

What will be the volume of the air in the beaker if the plunger is pushed in 3 times?

(N
(2)
)
“)

450 cm?®
850 om®
800 om®
1000 em?

19



30. The pupils in 5A studied the life cycle of Insect A and Insect B shown balow.

6 to 7 weoks \ -
- ”% 5o 10 larva \3"'#96

nymph

Hovomos M I ]
| egg\ w/ pupa

: 2t03
adult adult weeks

-
egy

Insect A InsectB

From the information provided in the 2 life cycles above, what can the pupils compare
about them?

A The food the iwo insects eat

B The method of reproduction

G The number of stages in the life cycle

D Tha length of time it takes for the eggs to hatch
M C only

(¥3] B and C only
{3) B, C and D only
{4) A, Band C only
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Section B: (40 marks) - '
Write your answers to questions 31-to 44. The number of marks available is shown in
brackets [ ] at the end of each question or part-question.

31. The diagram below shows an im

portant process in the sexual reproduction of flowering
plants,

a) State the process in the above diagram.

(1]

b) if conditions are favourable, what is the next process that would take place? i}

Score




32. The table befow shows the compeosition of air in Country P and Country Q.

Country Composition of air

78% Nitrogen
P 21% Oxygen
0.5% Water vapour
0.5% Carbon dioxide and other gases

78% Nitrogen
21% Oxygen
0.2% Water vapour
0.8% Carbon dioxide and other gases

The percentage of water vapour in the air is known as humidity. The higher the
humidity, the slower the rate of evaporation.

In which country would the drying of wet clotbes take a shorter period of time?7 Explain
yOur answer. 2}

Score




33. Hui Wen conducted an experiment to find out the function of various cell parts. She
placed.a plant cell, as shown.below, in a dish with a solution containing Chemical X,
When she checked the cell after an hour, she found that Chemical X did not enter the
cell. The experiment was then repeated with ancther four similar cells, with sach cell
having a part removed.

Part D

Solution
containing
Chemical X

The table below shows part of her results. Complete it to show the resuits when various

parts of the cells are removed. [2}
Coll part removed is Chomical X found in the celi?
None No
0 Part A
{n PartB
(i) PartC
(iv) PartD
Score




34. Greg wants to check if both of the bulbs are working . He decided to set up a simple
circuit to test both. buibsatthemﬂmetod)eddfﬂ?ebulbsaramwoﬂdng condition.’

He has the following components to set up the circuit,

Two light bulbs

Ui

/

Unlimited number of wires

in the box below, draw a circuit diagram to show how Greg should connect all the
components so that he could test the bulbs at the same time to determine if they work.

{2}




35. Two ice cubes made of pure water and of the same mass were placed in a plastic cup
and a metal cup respectively once they had been removed from the freezer. The ice
cubes in the plastic cup and metal cup were leRt In a room with a temperaturs of 27°C

for two minutes.
/ ice cube \
I Water :
At the start of two minutes At the end of two minutes
a) What is the termperature of the ice cube at the end of 2 minutes? 1

b) The time taken for the ice cubes to melt completely in both the plastic and metal
cups is recorded in the table below. identify the materials of the cups in the table

below. 1]
Material of cup Tims taken {minutes)
i 14
i 10
¢) Explain your answer in (b). [tl
Score




38. The diagram below shows the family tree of Isaac.

Male
ajako
O Female
2RO
R e e i “TCharacteristic | et Y
: Fomily Member 5 iod Cheeks Widow's Peak Single Eyellds .~
y 7 3
B ¥
C v
D ¥ '
E v N
_F ¥
[ N v J
a) Isaac belongs o the second generation. He inherited his widow’s peaks from his
father but did not inherit his mother’s dimpled cheeks. Which letter in the family tree
represents lsaac? ]
b) Study the family tree. Explain why F and G have single eyelids. [1]




37.  Joanne placed the following single—ca_n organism In a dish.

a) It is observed that the cell moves towards light. Using the knowledge of the function
of each cell part within the organism, explain this observation. 21

b) State two substances that would be produced within the single-cell organism after a
few hours in the presence of light. 1}

¢) Do you think the tail of the organism could function if its nucleus is removed? Give a
reason for your anawer. , 1

Score




38. Glenn set up an experiment in which he placed rods of different materials in four
different circuits. Each circuit was connected o a meter that measured the amount of

elactric current passing through it.
Set-up A Set-up B
. 21 T ]——@ S 1 TR S J——-@
meter meter
I e me G
Copper rod {ron rod
Set-up C Set-up D
Y | TR D———@ Y { TR }—-—@
meter meter
bt } o o] Jrrered
Copper rod iron rod

a) Glenn wanted fo find out whether different materials will affect the amount of
electricity that passes through the circuit. Which two set-ups should he use? i1

b) Glenn used set-up B and set-up D for another experiment What is the akn of this
axperiment? . il

¢} Why is a meler better than a light bulb in determining the amount of electric current
passing through the circuit in this experiment? ' [}

Scors




39.. Gary set up the circiiit as shown below to test if Objects A, B and C are made of
' eleclrical conductors. The different objects were connecled to the circult at testing

positions J, Kand L.

: J
'
Bulb 1
Bulb 2
K
, - o— @ JI’IF_
[ ]
L Bulb 3

&

a) Gary's teacher commented that one of the testing positions chosen is unsuitable in
confirming i all three objects tested at the same time are electrical conductors.

i) Which testing position, J, K or L, is unsuitable?

m

- §i) Mark an "X" on the above circuit to show where the new testing position should be so
that all three objects could be fested at the same time.

b) The findings are recorded in the table below.

1

Doss the bulb light tip?

Objects piaced at _
J K - Bulb 1 Bulb 2 Bulb 3
A B c Yes_ No Yes
B A - C No Yes Yes

i} Based on the table above, which objeci(s) is/are efectrical insulator(s)?

i1

i) Name a possible material that the objeci{s) mentioned in b{j) is/are made of. M




40. Hazel set up an experiment in a dark room to find out which coloured light(s), red, green
or biue, could be used for photosynthesis.

She divided a tank into three sections, A, B and C, by black plastic sheets as shown in
the diagram below.

She introduced some fish into each section which had water plant with same number of
* leaves.
Black

plastic
sheet

Green light Blue light

Plant

Air bubble
Fish -

a) Give a reason why the fish were found in sections with red and blue lightonly.  [1]

b) Which coloured light(s) could be used for photosynthesis? 11

¢) Hazel's teacher suggested that she repeat her experiment with the same set up. What
is the purpose of repeating her experiment? I1]

Score




41. Grace studied how the rate of photosynthesis of Piant X and Plant Z is affected by
different light intensities. The graph below shows her resuits,

80 -

60 -

Amount of 50 -
sugar .
produced 40 -
(mg) -
30 -

sovoew p’ant 2

o’
.
-

20 A

1
i
i
)
]
]
]
}
{
! e Plant X
i
H
i
i
{
H
H
H
1
}
[ §

L ¥ T ¥ L 3 ¥ L ¥ T3

O 10 20 30 40 50 60 70 90 100
Light intensity (lux)

a) State the relationship between light intensity and the rate of photosynthesis of Plant
Z from 0 lux to 100 lux. {2]

b) Based on the resuns from the graph, suggest which plant is more suitable to be
grown in a shaded location? Explain your answer. m

¢) Predict the amount of sugar produced by both plants when the light intensity is

increased to 100lux for each plant. [1]
) PlantX: - - mg
i) PlantZ: mg
Score
4

11



42, The diagram below shows a water cone that allows clean drinking water to be
collected from the ground.

On a sunny day, the water cone Is placed on wet ground. Water will be collected at
the base of the cone after many hours.

Pockét to collect water

Wet Sand

a) Explain how the water Is collected. {23

b) it is observed that on a cool and cloudy day, the amount of water coflected is much
Jower. Give a reason for this observation. [1]

Score

12



43. Four objects are hung from the celling as shown below.

a) Which of the objects are defmitely magnets? Explain your answer. {2}

b) For objects A, B and C, what will happen if Object D is removed? Explain your
answer. {2

13



44. Flora was abls to pack a sponge Into a container.

Volume of sponge: 15cm® Volume of contalner: 10cm®

a) Explain why Flora was successful in doing s07? {1

Flora wants to transfer a full packet of orange juice into a cup.

Volume: 100ml Volurne of juice: 120mi
b) Will Flora be successful in doing so0? Explain your answer, ¥)
End of paper

o= |~






Answer Key

EXAM PAPER 2015
SCHOOL : NAN HUA
SUBIJECT : P5 SCIENCE

TERM : SA2
a1 Q2 Q3 Q4 as as a7 as as aio
2 1 1 1 1 3 4 2 3 3
Qi1 1z | a3 Q14 Qis Q6 | Q7 | Qs | 19 | Q20
2 2 4 2 3 4 1 3 4 1
Q@1 | a2z | @23 | a4 | a2 | 02 | az | a8 | o | Q3o
2 2 3 4 3 4 1 4 3 3
31)a)Seed dispersal. b)Germination.

32)Country Q. There is a lower percentage of humidity in Country Q
than Country P, so rate of evaporation is higher in a place of lower
humidity.

33)i}JNo ii}No iii)Yes iv]No

34) - ,
—

-
o

[
i




35)a)oC.
b)i)Plastic iijMetal

c)Metal is better conductor of heat than plastic C so the ice in if
gained heat faster.

36)a)D.

b)F and G inherited their single eyelids from E or form A to D to
them.

37)a)The cell has chloroplast to trap light to make food, thus the cell
moves to wards light.

b)Oxygen and Food.

c)No. The nucleus controls the movements in the cell with out it
the tail cannot move.

38)a)A and B.

b)To find out whether different length of material effect the
amount of electricity that passes through.

c)The meter can give accurate readings on the amount of electrical
current passing through the circuit.

39)a)i)l.
ii)



39)b)i)B. ii)Wood.

40)a)The plants in sections A (red light)and C (blue light)produced
oxygen but the plant in section B (green light)did not produce any
oxygen.

| b)Red and Blue light.

c)To ensure the results are reliable.

41)a)The amount of sugar produced by the plant increased when the
light intensity increased from ) lux to 90 lux. However, above 90
lux,the amount of sugar produced remained the same.

b)Z. It can produce more sugar at a low intensity although not
highest at the end.

c)i)J70mg ii)65mg

42)a)The water from the wet ground evapourated into water vapour.
The water vapour then condenses into water droplets on the cooler
surface of the cone leaking into the pocket as clean drinking water.

b)Rate of evaporatioq,;iqjloﬁ}er when the surrounding temperature
is lower.

43)a)A, B, C. Magnets repel and since A repels B and B repels C. The
three object are definitely magnets.

b)The objects will stay the same. D is not a magnet nor a magnetic
material as it does not attract or repel the magnets.

44)a)The were air spaces in the sponge to compress to be able to put
the sponge in to the container.

b)No. Liquids cannot be compressed thus 20ml of juice will not be
able to enter the cup.

g






